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QUESTION 1

Which of the following statements are correct regarding application layer test commands? (Choose two.)

A. They are used to filter real-time debugs.

B. They display real-time application debugs.

C. Some of them display statistics and configuration information about a feature or process.

D. Some of them can be used to restart an application.

Correct Answer: CD

Application layer test commands don\\'t display info in real time, but they do show statistics and configuration info about

a feature or process. You can also use some of these commands to restart a process or execute a change in its
operation.

QUESTION 2

Which configuration can be used to reduce the number of BGP sessions in an IBGP network?

A. Neighbor range

B. Route reflector

C. Next-hop-self

D. Neighbor group

Correct Answer: B

Route reflectors help to reduce the number of IBGP sessions inside an AS. A route reflector forwards the routers
learned from one peer to the other peers. If you configure route reflectors, you dont\\' need to create a full mesh IBGP

network. All clients in a cluster only talck to route reflector to get sync routing updates. Route reflectors pass the routing
updates to other route reflectors and border routers within the AS.

QUESTION 3

View the exhibit, which contains the partial output of an IKE real-time debug, and then answer the question below.
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ike 0O:c 984686100 :278: responder: main mode get 1st message..
ike ) : 0 00 000: : incoming proposal:

ike - & Df6/0 ( | ( 7 : propesal id = 0:

ike 3 : ! ( protocol id = ISAKMP:

ike : ] 0000: : trans id = KEY IKE.

ike ) bOE6/( encapsulation = /none

ike 9e 3 61b0£6/( 000000( type=OAKLEY ENCRYPT ALG, val=3DES
ike 0:c49e 5861b0T6/ 00! 00000000 )e=ORKLEY HASH ALG, val=SHA2 :
ike Ye 1b0 ( i )e=AUTH METHOD, val=PRESHARED KEY.
ike - 0 0000( ( 2 type=ORKLEY GROUP, val=MODP2(

ike 0:c4%e 5861b0Ff6/000000¢ 000000:278: ISAKMP SA lifetime=86400

ike 0:c45e598¢ ‘0000000000000000:278: my proposal, gw VPN:

ike ' 100 ( ( :278: proposal id -

ike 9e 5861Db( ( ) 2 protocel id ISAKMP:

ike : 3 00 0: trans id = KEY IKE.

ike 9 ( : g g encapsulation = I

ike 0:c49e598468 0 278: Lype=0AKLEY ENC _ALG, val=AES CEC,
ey—len=256

ike 0: e59846861b0f6/ ( 278z type=0AKLEY HASH ALG, val=SHAZ 256.
ike e 861Dl ( 0( i type=AUTH METHOD, val=PRESHARED KEY.
ike 0: } ( 2 2 type=0AKLEY GROUP, val=MDDP2048.

ike 594 10000 0000:278: ISAKMP SA lifetime=86400

ike 0:c49e59846861b0f6/0000000000000000:278: negotiation failure

ike Negotiate ISAKMP SA Error: ike 0:c49e59846861b0f6/0000000000000000:278:

proposal chosen

Why didn\\'t the tunnel come up?

A. The pre-shared keys do not match.

B. The remote gateway\\'s phase 2 configuration does not match the local gateway\\'s phase 2 configuration.
C. The remote gateway\\'s phase 1 configuration does not match the local gateway\\'s phase 1 configuration.
D. The remote gateway is using aggressive mode and the local gateway is configured to use man mode.

Correct Answer: C

QUESTION 4

Which two conditions must be met for a statistic route to be active in the routing table? (Choose two.)
A. The link health monitor (if configured) is up.

B. There is no other route, to the same destination, with a higher distance.

C. The outgoing interface is up.

D. The next-hop IP address is up.

Correct Answer: AC
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QUESTION 5

What events are recorded in the crashlogs of a FortiGate device? (Choose two.)
A. A process crash.

B. Configuration changes.

C. Changes in the status of any of the FortiGuard licenses.

D. System entering to and leaving from the proxy conserve mode.

Correct Answer: AD
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